10-4b Solving Quadratic Equations by Completing the Square

P Example 1: Example 2:
x*+ 16x+ 15=0 3x% - 12x = 36
Step 1: Write the -\5 -\5 2 T3 T
equation in the form . a
x?+ bx=c N _\.\(,)Y = Y& ¥ =R = 8k
(¥*a MUST be 1)

Step 2: Find (2)2

(2= (D)0 -

(- 6=

Step 3: Complete the
square by adding the
value found in the

b
previous step (5)2 to
BOTH sides of the

‘quation.

Y bX ¥ 64 = A5+

kx4 = 4a

v —Ux+d =13+Y
v oux 4= \b

Step 4: Factor the perfect

X +\bx +64|= 1o,

X*-ux +ul =\

square trinomial. >~
) B =49 | (k== \G
Step 5: Take the square \f@*@i =04 {-» I
root of both sides. Xy = ..-\._.7 Y-2 = +
Step 6 Write.two X¥p:=7 x+B=-7/ y-2=4 x-2=-Y
equations, using both the -8 -8 -8 8 P W % W W o X
positive and negative
square root, and solve Xz -l X=-\S | Xz b X ==
each equation.

3% -\ax = 26

Step 7: Check BOTH

Xa’r \GX+\S =0
V4w DHS =0 (N LN

3(=\2(6) =36

o 3(:0)- \2(0) = 36

answers V0B -7 =30
V-l s =0 "'-?-SS‘::?":’O 3 = 36

-\S Y\s=0y/ =\ ol | == s pEws R =

] 0=0/ | DT \N-R)=3C

3(Q) -\ 2 (- =36
12 24 =36

20 =36




